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Demonstrate your solution steps clearly.

Do not use L’Hospital Rule in limit questioms.

A boat is pulled into a dock by a rope attached to the bow of the boat pulley

and passing through a pulley on the dock that is 1 m higher than the " ,
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bow of the boat.
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5. (16 points) Find the derivative of f(x) = 3x2-2x using the limit definition of the derivative, é?_, ___2
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6. (16 points) Using the implicit differentiation find the equation of the tangent line to the curve xsin(2y) =

ycos(2x) at the point (x, y) = (n/4,7/2). 5 —-I - 2 C‘,’L’—W/?)
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7. (8 points) Suppose f is a function such that f'(x) <3 forall 1 < x < 5. Using the Mean Value Theorem, find
the largest possible value of f(5)— f(1). ’lz_
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